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QUESTION 1

Given the following sequence of events: 

1) COL1 in SCHEMA.TABLE has a value of 10 2)Update COL1 in SCHEMA.TABLE to 20 3) Set SAVEPOINT A 4)
Update COL1 in SCHEMA.TABLE to 30 5) Set SAVEPOINT B After issuing the statement: ROLLBACK TO
SAVEPOINT 

What will be the value in COL1 of the SCHEMA.TABLE? 

A. 10 

B. 20 

C. 30 

D. An -880 SQLCODE will be issued when the statement is executed 

Correct Answer: C 

 

QUESTION 2

The following warning message is issued when the last available active log data set is 5% full: 

DSNJ110E -LAST COPY n ACTIVE LOG DATA SET IS nnn PERCENT FULL 

What will happen if you ignore this message? 

A. DB2 will shut down if it reaches the 100% full condition 

B. DB2 will overwrite the oldest archive log without archiving 

C. DB2 will stop any activity that requires log writes if it reaches the 100% full condition 

D. DB2 will automatically allocate more active log data sets as long as there are still less than 93 of them 

Correct Answer: D 

Reference: https://www.ibm.com/support/knowledgecenter/en/SSEPEK_10.0.0/msgs/src/tpc/dsnj110e.html 

 

QUESTION 3

When the following SQL statement is executed, user smith will NOT be able to do which of the following? 

REVOKE USE OF STOGROUP stogr1 FROM smith; 

A. CREATE TRIGGER ...; 

B. CREATE TABLE ... IN db1.ts1; 

C. CREATE DATABASE ... STOGROUP stogr1; 
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D. CREATE TABLESPACE ... USING STOGROUP stogr1; 

Correct Answer: D 

 

QUESTION 4

Given the following table and index definitions, what type of index will be created? 

A. Non-partitioned index 

B. Non-partitioned secondary index 

C. Data-partitioned secondary index 

D. Data-partitioned partitioning index 

Correct Answer: C 

 

QUESTION 5

Given the following CREATE VIEW statement and sample data; your login id is "ROGER". What will be the result for
this query? 
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A. 6 

B. 5 

C. 4 

D. 2 

Correct Answer: C 
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